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OPTION-A
Paper : CSC-HG-2016

(Programming in C++)

1. State True or False : (any seven) 1x7=7
o) (7 =P} ot ¢ (Riewteat vAreny)

(a) Nested loop is not possible in C++.

C++ © Nested loop oI &7 =7

(b) Variable name cannot start with a
number.

5511 AN RS WS IR @RIR |

(c) ++ is a binary operator.
++ 6l (7S BT |

(d) In C++, array subscripts always start
at 1.

C++ 9 array ¥ subscript ¥ 1-F *[
IS A |

(e) Keywords can be used as variable
name.

Keyword@IF 5531 I f2pitet e IR
MR
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1) ~ ‘break’ is used to exit from a program.

¢} program I 9 2FW T3 break IRIYT
Al

(g) The expression A = - less 5% 2
returns the value of -1..

=-5%2 IMBIIT -1

(h) The for loop consists of four
expressions.

for loop ® GIfSBI expression A |

(i) A double variable occupies 2 bytes of
inemory.

@Bl double 5eTCF GRS 2 bytes 7Ia FJ |
() Functions avoid code duplication.

FIE 0] Afsfifa @iy I

2. Answer any four questions : Ix4=8
foreizt IR e Bea fimt s |

(a) What are the different data types
available in C++ ?

C++© Toierg RioH oibF @R & & ¢
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() What is the difference between while
and do while loop ?

while &% do while loop I WiErS s & 2

(c) State the rules for defining variable
name.

5o A T AR Tl #
(d) What is meant by R value and L

value ?

R value ©i% L value ¢ & @ ¢

(e) What is meant by scope of a
variable ?

559 scope @ & @4 ?

() What is the difference between an
object and a class ?
Bl object W «BI class-I WES B N4
PCF ?

(g9 How are binary files different from text
files in C++ ?

C++ 3 (%8S binary file TR text file T
e 593 TEmd F

(h) Differentiate static and dynamic
allocation of memory.

Static 9% dynamic memory allocation
T e SN TR |
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3. Answer any three questions : 5x3=15
Rizeen fofabt erR Tes fadl 8

(a) Describe the two ways of passing
parameters to functions.
&5l TR parameter SIOSIR TOT GS
3l 41

(b) What is a pointer ? What is meant by
pointer arithmetic ? Discuss the use of

pointers with arithmetic operators.
1+1+3=5

e & 2 Ppe o e [ 3o 2 P
Tt 9T T NSRS RIa
S |

(c) Explain switch statement with an
example.

TR e switch statement 3 I
E

(d) What is the difference between call by
value and call by reference ? Give

examples.

Call by value iR call by reference ¥
s e & ¢ Tz fa
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(e) What is function ? Give the prototype
for function declaration. How is the
function defined ? How is the function
called ? 1+2+1+1=5
‘e WA [ 2 Tow’ 107 I Tl T [
‘T el s = ¢ T v 9@
N ?

(/ What is the significance of access
specifiers in a class ?

Class ¥ (%9 access specifier 72T Shi!
5 Tom )

(g9 What is polymorphism ? Give an
example in C++ to show its

implementation. 3+2=5
Polymorphism & ? C++ © 3% IRTR
ol Tigset faat |

(h) What do you mean by static data
member of a class ? Explain the
characteristics of a static data
member. 2+3=5

@bl class ¥ static data member 9 &

JGR ? static data member I WRBFRZ
RN 4
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4. Answer any three questions : 10x3=30
Riewtet fofii e Teq fam 3

(a) Write a program to find divisors or
factors of a given number.

ame WYl BN Tesimenz [ReIR Shmre
AT A5t e f

(b) Briefly explain the following library
functions : S5x2=10

ete S T library function R B
3efr faan 8

(i) fabs
(i) sqrt
(iii) fopen
(iv) strlen
(v) pow

(c) Write a program to multiply two
matrices.

7b (GIR S[RITeT RTRIRCa <ot elter ot

(d) Write a program to find roots of a
quadratic equation.

qe TR T AR IR @B el
fean
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(e)

(9)

Write a program to compute sum of
the following series up to Nth term :

e 2SR AW NOF smest QST

ﬁaﬁwm«ﬂmm@mm
x3 x* X'
S = x——§+§—7

Write a C ++ program to copy one file
to another file.

<5l T SAPTIZ SFY B! TR ISR
PRI AR C ++ © Ao fordl|

Define a class to represent a student
with the following members :

w@{ member WA student I AR GOl
class 3 31 ¢

Private members
Private member X
rollno, name, marks of MIL,

English, Physics, Chemistry,
Math, Total

(Use suitable data type)
(TRE data type 9T FRa1)

3 (Sem-2/CBCS) CSC HG 1/2/3, RC/G 8



Public members
Public member 3R

readdata () : to take initial value
AR THPRR 7T AR

calculate () : to calculate total marks
TP T e IRIW AR

disp () : to display information

SUPR e I

(h) Write characteristics of constructor
and destructor of a class. 5+5=10

Class o] IR constructor <
desrtructor 3 Q@MEPRR ol
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OPTION-B
Paper : CSC-RC-2016/ CSC-HG-2026
( Database Management System )

1. Fill in the blanks : (any seven)  1x7=7
AR iR o7 A ¢ (Rt o)

(a) Relational database stores data in the

form of

. REHET TS THRR ———— 9IS
Tl A

(p) The ————— identifies individual

tuples uniquely.

qQ 9T tuple QAR T
e IR

(c) A relation is an ——— NF, if there

is no transitive dependency for non
prime attributes.

@ REvt ——— NF © ot T
SR [SEE P transitive
dependency N |
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(d) The definition of a table can be
changed by using
command.

G (B T HA PRI ——— o
I [ AN

(e) The basic data retrieval statement in
SQL is
Tib! ST I SQL © IS (T T
oo ¥ —————— |

() DML commands modify the actual

structure of a database.
(State true or false)

DML STPI(R GOIRR 61 SIowe eI
R AF| (1 e 1 o)

(g) Attributes are the properties of an
entity. ( State true or false )

Attribute T e ¢GB! entity I (IMB |
(1 ¢ iy fo2h)

(h) A tuple refers to a row in a relation.
( State true or false)

g8l tuple @ P CHTE @G AN
B | (B! @ A7 =)
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i) SQL stands for
SQL T & &9 T
(i) Standard Query Language
(i) Structured Query Language
(iii) Second Query Language
(iv) Stylish Query Language

)] Redundancy is minimised with
computer based database approach
FiTHR SRS GHIRE RS ST
CHPRR Pow FRA AR —

i) true
(i) false
(iij) sometimes true

(iv) can’t predict

2. Answer any four questions : 2x4=8

Rzt bifSor 2 Tl o e

(a) Define relationship. What are the
different types of relationship ?
1+1=2
IR (Fre Remafas wice o e
o RCTARoER & 2
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(b) Define 3NF with example.
TRIZRR 3NF 3 )@l Tt

(c) What are the advantages of DBMS ?

DBMS ¥ Soraifermz e 311

(d) Define entity integrity and referential
integrity. 1+1=2
Entity integrity 9% referential integrity
T k@l forn|

(e) What are the basic data types
available in SQL ?

SQL-© Gofera GNfers SiopRE &

() What are the difference between fixed
length record and variable length
record ?

SARRETNE TR @6 AR ARTETAE
W (6 ere A AR [ 2

(g9 Why are duplicate tuples not allowed
in a relation ?
SR ¢t KT SR tuple X
oy W @RI AR ?

td.
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(h) Define foreign key. Why is this concept
used for ? 1+1=2

Foreign key I <&l et | Foreign key
YRS R R A 2

3. Answer any three questions : 5x3=15

e oG as ey forl ¢

(a) List any five SQL commands and write

the purpose of each of them. 1+4=5

Rizeiz 255! SQL SR Sifeidl ege I
R AT AT TEL 341 |

(b) What is relational algebra ? Explain
any two operations of relational

algebra. , 1+2+2=5

Relational algebra & ¢ 33" R 107
TS M |
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(c) Briefly explain the characteristics of
DBMS.

DBMS I INBPrRR 5 3 fa )

(d) Explain various relational
constraints.

Relational constraint 332 391 fa|

(e) Briefly explain the SQL commands
used to modify database.
bR s R I9ER @A SQL
SR 59 3

() Discuss the naming conventions used
for ER schema diagrams.

ER schema 531 ive=d «aR RI@
AN 9 |

(g) What is functional dependency ?
Discuss various types of dependencies.

1+4=5
i) RSl i & ¢ Rfen d
Moot AT St 3|

Contd.
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4.

(h) What are the limitations of file based

system ?

Tize W63 TR T AeRaermg & 2
Answer any three questions : 10x3=30
Rt fofanr e e fordl ¢

(@) Write down the steps used for

conversion of ER diagram to a
relational database.

45t ER B s GHIR6E RoieR IR
F7g’ 4 e fort

disadvantages of DBMS.

-

(b) Explain the advantages and
5+5=10

DBMS-3 R4l T SHRUER IO I

() What is normalisation ? Define 1NF,
9NF and 3NF with examples.
1+3+3+3=10
FofeReeW W & ¢ INF, 2NF S% 3NF
3 IR TARPR TR T

(d) Consider the relational schema and
write SQL statements to perform the
following tasks : 2+2+2+2+2=10

we[d Relational Schema (G Gidl W%

IS INEITT AR SOL T il 3
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EMPLOYEE (SSN, NAME, BDATE,
SALARY, GENDER, SUPERSSN,

DNO)

DEPARTMENT (DNO, DNAME,
MGRSSN)

(i) Retrieve the name of all
employees ~ who work  for
‘Purchase’ department.

purchase Reie W A
FHITT TN Al A

(i) Retrieve all employees in
department number 2 whose
salary is between 20,000 and

30,000.

o 72 department © I FA I
iR AR ReiiR Tfeedt I salary
20,000 ¥ 21 30,000 I TS|

(iij) For each employee, display
supervisor’s name.
o IR A supervisor I AN
aaiall
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(iv) Increase salary of all employees
working in ‘system’ department
by 7%.

System department © Hi¥ 9 HHE
=R 7% W 3% w4

(v) Delete the record for employees
who work in Research’
department.

‘Research’ Rei® ?P”N RS IR
BT @6 w11 fal |

(e) Write short notes on the following :

S5+5=10
e R 53 Rad fim
(i) Primary key
(i) Foreign key
(i Consider the following relational
schema : 2+2+2+2+2=10
& relational schema (3 (i ¢

Employee (Eno, Ename, Salary, DoB, Dnum)
Department ( Dnum Dname, Mgrno)

Write SQL statements for the
following :

WWWSQLWW:’,
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(i) Display names of managers of all
departments.

AT department-9 (ST 19
o 30|

(ii) Display the names of all
employees with salary > 10,000.

10,000 & @ salary (AR R
FHINE AN AT 1

(iii) Display number of employees
working in each department.

2te® department © i 7 P
T Y Al 4

(iv) Decrease salary of every employee
by 3%.
el TR TN 3% T [ |

(v) Display details of all employees
who was born before 01.01.1990.

- 01.01.1990 I TS T I FHEA
G Rewd fan
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(9) Write short notes on the following :
5+5=10
e R esite sagort foi
(i) Strong and Weak Entity
Strong ¥I% Weak Entity

(@) DDL and DML commands
DDL ®I% DML St

(h) Consider the following relational
schema and solve queries in SQL :

2+2+2+2+2=10
©o relational schema (31 (ARl &=
SR epie I SQL O frat ¢

Student (RollNo, Name, Semester,
Course No) Course (Course No,

Course Name)

() Retrieve names of al students
who are admitted to course BSc’,

BSc o AN wugRs 1 s waw
i Koy Sferea

(i) Display the names of all students

whose course name is BSc’ and
who are in 2nd Semester,

BSc & 2nd semester 3 v
BT AN 2w 3w
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(iii) Display the details of all courses
in which more than 100 students
got admitted.

100 TS ST BE 47 ITONA
ARIT A 10|

(iv) Change the name of Roll No=2 to
‘Mahesh Das’.
Roll No=2 I «Iiq T 3 Mahesh
Das |

(v) For each course, display the
number of students admitted to
the course.

ST %9 A FeF TR A |
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OPTION-C
Paper : CSC-HG-2036
(Introduction to Programming in C)

1. Answer any seven questions : 1x7=7

el Rt rebt e Tel 3

() What is the use of printf () function ?
printf () IR ¢

(i) What is variable ?
Variable it & g&1 ¢

(i) What is the use of ‘strcmp’ ?
‘stremp’ I I B ¢

(iv) Give the syntax of conditional operator
in C.

- C © conditional operator ¥ syntax (5!
e

(v) Mention two dynamic memory
- allocation functions available in C.

C © 931 75! dynamic memory allocation
function o4t
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(vi) What is EOF mean in C ?
C © EOF W7 & 3@t ¢

(vii) What is the use of break statement
inC?
C © break statement ¥ I72{ & ¢

(viii) What is pointer ?
Pointer Wit & ?

(ix) What is the use of ‘&&’ operator in C?
C © ‘&8’ operator I IAYT & ¢

(x) Give the prototype of a function in C.
C 3 function ¥ prototype (5t faat|

2. Answer any féur questions : 2x4=8
Rzt iAot @53 e faal ¢

(i) What do you mean by precedence and
associativity of an operator in C ?

C © &5l operator ¥ precedence Wi
associativity I e
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(i) What are the difference between while
and do-while statements ?

" while % do-while statement 3 11 & 2

(i) What are L-value and R-value of an
expression ?

@Bl expression ¥ L-value % R-value
W & 3@ 2

(iv) Define scope and life time of a
variable.

&t variable ¥ scope W% life time I &
|

(vy What is the function of ++iand i++ ?

+H O i+ TP 2

(vi) Write the difference between =’ and
‘==' gperators.

= S ‘== operator?‘m@ﬁ sl ol |

(vii) Write the difference between an array
and a structure.

@Bl array 1% @B structure I MEH ALT-
g forl|
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(viii) What is the character used in C to
denote end of a string ? Define
‘strlen ()’ function

C © @Bl string I ¥ JERCA & AT IR
791 = ? ‘strlen ()’ function (o1 wAgea faw |

3. Answer any three questions : 5x3=15

Rzt fofor em e firat ¢

(i) Briefly describe the basic data types
available in C language.
C © B9 basic data type (P! e

Eall

(i) Show the iterations of bubble sort on
the following elements :

W ALAIEISS bubble sort I iterations
@ (el ¢
10 6 4 8 7 12 5

(iiij) Write the algorithm of linear search-to
search an element from a list of n

elements.

1 (B IR @4 IR Rl @5t TRt RER
Gfmidte linear search algorithm ot
forall |
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(iv) Briefly explain different parameter
passing methods available in C.

C ¥ Rfeq parameter passing “&@%@R
39 0

(v) What is the side effect of an operator ?.
bl operator 3 side effect ‘ﬁTG! R e

(vi) Draw the flowchart and steps of an

algorithm to find the summation of n
numbers.

n B MYK @ SRS A@ flowchart
% algorithm a1

(vii) What is recursive function ? Write a
recursive function to find factorial of a
number.

Recursive function M@ & ¢ @5t ey

factorial BT B! recursive function
IGs

(viii) Briefly explain different storage classes
available in C.

C © Toierq RSy storage class-3 Ry 364!
BRIl
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4. Answer any three questions : 10x3=30

woid e fofsr ok U] faat ¢

(i)

()

(i5i)

(iv)

Briefly explain the following
statements :
@R statement @F 53 I 71

(a) if-else
(b) for-loop
(c) switch
(d) goto

Write a C program to check whether a
given number is prime or not.

&5t A 4B WA prime WA T AW
TR @Bt C program o

Write a C program to reverse an input

string.
&5 input string GBS @A €Ol C

program fert

Write a C program to sort a list of n
numbers using selection sort.

Selection sort JAYT R WY oIl
g4 sort FRAT @i C program |
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(vi)

(vii)

Write a C program using function to
find an element from a list of elements
using binary search.

Binary search J9gR ¥R @3 sorted
oife e sl @B WA [’ Bfemriea @61 C
program function J7RI IR TR

Write a C program to count the
number of alphabets present in a
file.

@Bl file © 43 alphabet I RYH Roist
IR @Bt C program B

Write a C program to multiply two
input matrices.

W input matrices [ IR @1 C
program T2t

(viii) Write a C program to find the

maximum number from an array of
number.

@Bl YR array I+ WHRGET ©lEd

(maximum) PG AP TRmrE @5t
program feraf|

——————
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